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o: Four possible answers A, B. C and D to each
question are given. The choice which you think is
correct, fill that circle in front of that question with
Marker or Pen ink in the answer-book. Cutting or

filling two or more circles will result in zero mark in
that question.
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(a) 32 sz (b) azz_t_)bz v
—2 i
(c) 52 _abz (d) = Ebbz
9. Which order pair satisfy the equation y = 2x:
(@) (1,2) v (b) (2, 1)
(©) (2.2) (@) (1,1)
 Eild |} |§ )6( ‘ =0, then “x” equal to:
(a) 6 (b) =9
(c) -6 (d) 9V
Mid-point of the points (2, —2) and (-2, 2) is:
(a) (2,2) (b) (0,0) v
(c) (-2,2) (d) (1,1)
5. In atriangle, there can be ---- right angle.
(@) 1V (b) 2
(c) 3 (d) None of these

6- Parallelogram is divided by its diagonals into =---
triangles of equal area.
(@) 2V (b) 3
(c) 4 (d) 5



10-
(a) Same (b) Differen

(c) Both A and B (d) Noné of these

11- Congruent triangles are === -

(a) Parallel (b) Similar v
(c) Different (d) None of these

12- Point (-3, -3) lies In the quadrant:

(@) Il v (b) I
(c) | (d) IV

13- Imaginary part of —i (3i + 2) is ----.
(@) -2 vV (b) 2
(c) 3 | (d) -3

14- HC.Fofx-2and x?+Xx -6 is:
(a) x*+x-6 (b) x+3

(c) x-2V (d) x + 2
15- The logarithm of any number of itself as a base is

(@) 1V (b) 0
(c) -1~ (d) 10
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(iii) Evaluate: (-)°.
Ansg (—i)° = (--1 x i)
1) X (l)5
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’ (v) Prove that: log, (n)

m
0D log, (%)=log, m-log,"
Let log, m = X and log,n=Y
ax=m and @ =n

= 'og. m — 'Oga n.

(vi) Find the value of x:

(Ansg log x = 0.0044
x = antilog (0.0044)

x =1.010
(viij) Define algebraic expression.

LU When operations of addition and subtraction are
applied to algebraic terms, we obtain an algebraic

expression. For example
2 3

- 5x% — 3x +$. 3xy +3

(viii) Simplify: 2(67/5 — 3\/5).
Ansg 2(61/5 - 3\/5)

= 21/5(6 - 3)
- =24/5(3)

=2x 3 x ‘\[5
(ix) F .

IX) Factorize: 6x*%- 96,
EID> 6x4 - 96 = 6(x* - 16)
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— 6()(2 o 4)()(2 " 4)

= 6[(x)* - (2)?)(x2 + 4)

= B(x - 2)(x + 2)(x2 + 4)

write short answers to any Six (g ions:

z) iyl (6) questions: 12

eir common factor of highest power is
:)rfu e eXpressions. P called the H.C.F

(i) What is meant by extraneous roots?

[ When raising each side of the equation to a certain

~ power may produce a non-equivalent equation that has

more solution than the original equation. These additional
solutions are called extraneous solution.

(iii) Find the solution setof: [x+2|-3=5-|x+2|.

D IX+2|-3=5-|x+ 2]
X+ 2|+ |x+2|=35+3
2Ix+2|=8
X+ 2| =4
X+2=+4 or X+2=-4
x=4-2 X=-4-2
X =2, = -6

' (iv) What is meant by cartesian plane?
D> The cartesian plane establishes one-to-one
correspondence between the set of ordered pairs R x R =

{(x, y) | x, y € R} and the points of the cartesian plane.
(v) What are vertical and horizontal lines?

D> A line parallel to the x-axis is called horizontal line

while to the y-axis, it is called vertical line.
vi) Define coordinate geometry.

Coordinate geometry is the study of geometrical
shapes in the cartesian plane.

(vii) Find the mid-point of (8, 0)(0, —12).

X y1+y2)
Ans R(x,y)-R( e
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(i)

s

f two triangles, If two sjq,,
angle are congruent .

ding two sides and their included angle

| are congruent.
the other, then the triangles are 6 following figures

AC = DF
Zl F

B o E
then AABC = ADEF (S.A.S Postulate)

(ix) Define trapezium.

Ansg Trapezium is a quadrilateral with one pair of sides
parallel. |

4. Write short answers to any Six (6) questions: 12
(i) Define supplementary angles. Give an example.

Ans Supplementary angles are two angles whose sum is
1800°. If the sum of two angles is 180°, then each angle is
called the supplement of the other.

For example, in the following figure, Zo and Zf are
supplementary angles.
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Tir - _ gths of two sides of a
(i) Hght angle triangle, then what should be the third

iength of the triangle?
m By pythagoras theocrem

4 cm

A 3 cm B
(BC)? = (AC)? + (AB)?
X = (4)% + (3)*
=16+ 9
=25
\/x2 =+/25
X=95cCcm
(i Define proportion. |
(@D Equality of two ratios is defined as the proportion. If
g:b=cC: d: then a, b, c and d are said to be a proportion.

(iv) InALMN,m||I'3alfml:-h-l'|=5cm,mljl_3=2.50m

and m LQ = 2.3 cm, th?n find m LN.

P Q
M N
Ansg | mLM = 5cm
mLP = 2.5 cm mLQ = 2.3 cm
mLN = ?
We know
mLM _ mLN

_—_
=

mLP  mLQ



M#

YT SovedUpto0ae Woce Papr 7 58 /LM S RAL

= T

=4ﬁém
(v) Define Pythagoras theorem.

Ans TP right angled triangle, the square of the length ¢
hypotenuse is equal to the sum of the squares of the

lengths of the other two sides. :
(vi) Verify that triangle having following measures o

sides is right-angled:
a=5cm,b=12cm,c=13cm
LY wWe know that
' c2 = a2 + b?

(13)2 = (5) + (12)
169 = 25 + 144
169 = 169

Hence given sides represents right angle triangle.

(vii) Define area of a parallelogram.

I The product of base and altitude is the area of any
parallelogram ABCD. Area = Base x altitude

(viii)_ Construct AABC, in which : mAB = 3 cm, AC = 3.2
cm, mZA = 45°.
Ansg m«BAC = 45°
AABC




ory. " all. But question
0.5.(3) Solve with the help of Cr

amer’s rule- (4)

o e
ATSE 5 iy
L = (6)(-2) - (10)(-2)
=$12-20
A=
3.7 6]
Av;[s *-10] '
' 36
A ='|5 10
= (3)(-10) - (5)(-6)
= _30 + 30
1Al=0
AL _IAl
ST R T
=8 ' 0

3 4
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Q.6.(a) Use log tables to find the value of:

83 x /92 (4)
127 x 5\/246

LYD | et
83 x g2

127 x /246
By taking log:

88 %302

log x =109 250 < 5246
= log (83) + log (92)' - log (127) — log (246)"°

= log (83) + % log (92) — log 127 — % log (246)

X:

=1.9191 + % (1.9638) — 2.1038 — %— (2.3909)

=1.9191 + 0.6546 - 2.1038 - 0.4782
log x = -0.0083
=(1-0.0083) — 1
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% = anlllog 1.9917
= 09811
' 1
D) "‘ (31 + 5;) - 5; then find the value of
bt .,
| @ Given :
.' 3X + _3-;(— = 5
Taking cube on both sides
1
(3x +37)° = (5)°
B kit () (3x s 1) = 125
(3x)3 + 3] +3(Bx)35)\3x+35) =
1
27x° + STt 3(5) = 125
27x3+27x3+15=125
21X+ 773 125 - 15
. oy
| 27x° + 573 = 110
Q.7.(a) Factorize:  81x* + 36x2y? + 16y (4)

81x4 + 36x%y? + 16y*

= (Ox2)% + T2x%y% + (4y?)2 — 36x2%y?
= (9x2 + 4y?)? - (bxy)?

= (9x2 + 4y* + Bxy)(9x? + 4y* — 6xy)
= (9x2 + Bxy + 4y?)(9x? — Bxy + 4y?)

b) Simplify:

(4)




7x-1_5x+7

=3 Gx~0
(6x-6)(7x—-1)=(3x - 3)(5x + 7)
42x% - 6x — 42x + 6 = 15x2 + 21x — 15x — 21
42x% - 48x + 6 = 15x2 + Bx — 21
42x° - 15x% - 48x - 6x+6 + 21 =0
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2752 . 54x+77 0
27(x* 2X + 1) = ()

R 2X+ 1=

) constructive Procedure:

1. Take PR line as 6 cm long.
2. At point P, draw a 5.5 cm arc; and at point R, draw
4.5 cm arc. Both of them cut each other at point Q.

3 JoinQwithPandR.
"4 Then, draw relevant altitudes of P, Q and R.

5. Thrice of these altitudes are concurrent.
Q.9. The bisector of the angles of a triangle are
concurrent. (4)

XD For Answer see Paper 2014, (Group-l) Q.9.
OR

Triangles on equal bases and of equal altitudes
are equal in area.

YD For Answer see Paper 2014, (Group-l), Q.9.(OR).




